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CHILD DEVEL opmenT AND PEDAGOGY | aTa famTa 3 fnameme
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%mﬂ;&‘: 2 '-:mmt % _“?"ﬂ?l Ohiberg a:g].m&ﬂmtmnmldﬁﬁelnphmnl_w_tulﬁ'pwgﬁﬂpjﬂ}?ﬁl et

Both (A) and (R) are true b . s
{ij lA) is true but [j?r;l = f‘ﬂﬂfl Ut (R) 35 not. the correct explanation of (A).
(3] Both (A) and (R) are false.

Both (A) and (R) are true and (R) 15 the cortect explanation of (A}
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L SRR e Lo g wivantaped proups demands:

(3)  same-ability grouping o -
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pssertion (A} : Learners construct their owe pawiledge based on what they already know

Reason R : Finding patterns _nml ma[u-lﬁ irkajes l:-.'il!'. previoe Kpowledpe belps laarners o
process informabiin meaning ly

Choose the correct option -

il Both (A) and (R) are teue bul (Rb s not the correct explanaton of (A)

20 (A} s true but (R) is false

(3l Both (A) and (R) are fa!m'-

4] Both (A) and (R} are tFuk and (R) i the correct explanation of (A}

SR (A) ;T S R A A S ame TR T A R 2

SR Ut g S foen) 7 ¥ mn g w3 ol 51 s w A = A

i fed T4 793

ALY i (R) =1 e £ A (A) (R #E e T6 w

(M) T E AR (R) T

o) (A) S (R) 2T T E

W) (A) 3 (R) = R E S (A) T (R) S S

Reascning, thinking and problem-solving are explained in which aspect of development s

(1] Cogritive Development . (3} Moeral Development
@3 Motor Development ™ [4) Secial Development
b ¥ fm W 6 T, AT T T ) s 5 A £

e ) i fem

(1) i far By (4) e

As per Howard Gardner's theory of multiple intelligence. which of the following set represents
correct match of intelligence and associated characteristics T

(1] Logical-Mathematical +skill of dance ar athletic aflities

(2] Musical ; performance or composition skills

(31 Spatial : skill of appréﬂ'iﬁng the nalural world

(4] Inmrapersonal : skill in understanding and relating to others
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Language development in prmary classes is facilifated |

1) when teachers ﬁ‘he&:%\ and enfosce the wse of formal language.

2] When teachers igno dismiss the mother tongue of the childeen,

(i)  When teachers beginfrom signs and symbols rather than concrete objects,
b examples fo refir [ abstract concepts,
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Ax per fean Piaget's theory of cognilive development, which of the iollowing allity distingiishes
e tE At | thinking rom Pre-operabonal thinking, )
(1) Decentering (25~ Hypothetical reasoning
n:' Orpect permhandewe {4] Coordinaton of senges

w9 1993 5 warmers faamn ¥ fozi & s, frefates # 8 3 v - am
qa‘ e E o e e e

Oy T @y nfrsfEm e
(3) = A0l {47~ 2l F1 ww
s Which of the following statements about indusive education is not correct 7
(1) Inclusive teaching means adopting-pedagogies that support needs of all leamers”
(2)  An inclusive classroom “accommodates differences in I’-‘"-'!".“a[—'.*' styvles and promotes
collaboration” :
{3 An inclusive classtoom cimbres around " fiked corrictila and stndard assessment”
4] Inclhusive teac T‘Hﬁg s Tiead hlr'l,!.. N wavs that daonot exclucde”,
Tafafea # 1 %19 W 5y gurEsn ey & i mﬁ:‘
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(2} o T wn e S O ) ot = € w2
(3] “fafeas aErEgl aft T gegin S ST T SO e S e 2
(4 TorETh fererm o 2d B CCUH A A T o Al A w1
10.

According to attribution theory of motivation which of the following is more likely f0 resull in
persistent effort and improved performance ?

(1) An external attribution for success @md an internal atiribution for failure

(2} Internal attnibuton for failure as well-as success

(3)  External attribution for failure as wellas success

(1) An internal attmbution for success and an external attribution for failure

ST s Taga F AN FefeEa ¥ § fRe e e S GEe S5 S A
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(4] TEEE = AU aETE A SR e e e A
11.  Which of the following statements 15 not-correct about learning, ?
(1) Learming implies rearganisation of prior conceptual schemes
{2) Learming is facilitated by social action
(3) Learning as a product rather than a process
(#)  Learming depends on learner’s previous u-wl.l.—fdg_e
Fretffen © 8 F17 9 #ed s % ot i 9
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14.

15,

While i‘I!Tl-i.L'lT'":'lh"'lFI 1 a sports compehition (i claee. Tanty tella his friend that he wil) participat,
the javelin throw and lus sister can parhicipate in jump rope Because ke 8 o girl and jrirly Aty
throw javelin. This depicts
(1} Gender equality (2} Gender equity
(3) Gender stereatypmg (4)  Gander comstanty .
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indicates thal development is
(1) Cephalncandal (2] Linear
(3 Procamedistal (4] Anarchic _
o 3 Y 7= e AV O A VR T v e fat A €1 o e # o
{4 (2] T
(3 TR (4 T

Which of the following is a tvpical charactenstic of Dyslexia 7
(13 Difficulty in phonological processing

(2} Dafficulty in physical coerdination

(3) Difficulty m spatial awareness

{41 Diifculty in creative problem solving

f=ites d § 529 9909 F1 UF fafe e we- 87
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(3) B HEEAAEN § SR

(4) TEEEE EgEN GEEE § FiEE

Whach of the following would not be characterised as formative assessment 7

(1) Anassessment mven during the class to provide enpgoing feedback to students and tear'r}efs.-

(2]  Anassessment task that is helpful in comparing students as per a standard set of critena.

(3} Anassessment used to identify misconceptions in a student's learning, .

(4)  An assessment given at the beginning of a new concept to determine students prior
knowledye.
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18.

School curriculunm should grve reasomable space and value o learner’s cultural
knowledyes,

o (RY Supporting students o uphold thetr cultaral identities facilitates learning.
Choose the cormeet ophon

(1) Both (A} and (R} are true but (R) & not the correct explanation of {A),

(23 (A} 35 brae but (R) is false

(3 Both (A} and (R} are false

(4} Both (A} and (R} are true and (R) 15 the correct explanation of {A)
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Which of the tollowing types of questions can help assess a student’s ability to evaluate information
critically 7@

(1)  Questions that ask for the student's personal opinion

(Z) Cuestions that ask for examples that validate the text

(3 Queshons that ask for a summary of a text
4] Ouestions that ask for a simple definibon of a term

T (R WEE F O UF 91 1 A 06 TR W IS WA S GvEE ) A F 0
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Actording fo Kohlberg's theory of moral development, at what stage are children self-centered
and see ther own benefit in doing something ?

{1} atthe second stage in the first level

(2) -at the thard stage m the second level

(3} at the hifth stage i the third Tevel

(#) at the first stape in the first level
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14 in1pairﬂ'lf‘ﬁl i5-a comdi on. while disabdlity (2a

(1 funchonal bialogical (2) operative; physieal
[-‘:u:- sncial. peychological (4) Biological, functonal
T T  fafy & wwiE Smwm TR Frerby B |
o FEE, AfEw 2y feraros, T

(3] EETEE, S (4)
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i, Which of the following nplh' dehnes n'lﬂhl‘lﬂﬁh'lrl hotween COE

(1) Emotion and cognition are interdependent on each. other.

(2] Copmition mfluences emotions bul réverse I8 not true

(3}  Emotone nfluence cognition but reverse is not true

(4) Cognition and emotion are two independent sySems: _ . o
P 8 S0 v e S P 6 A S w9 =g S A A 5w
1) s she s s H vE-gE T3 e 9 A fi F

(@) TR SEAE T AR = R wE se e wem T

(B) WET WA F R O # AfE T i w8

21.  Problem solving is fostered by ;

(1} Functional fixedness {2) Passive imitation
(3]  Response Set (4]  Divergenl thinking
HETEER # F F5 T F0F B qUE &) 42E] 2 e 7

(1) = T J2r =g sem

(3) Wi A (4} =9 fam

22.  Which of the following is a key principle of progressive education 7
(1) Students should be passive recipients of knowledge from their teachers
(2] Learmng should be based on authentic tasks
(%)  Curnculum should be predetermined and universal
(4) Standardized testing i the best way to measure student learning
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23,

24,

25,

26,

(&) Chiddhood 18 experienced ditferently by children across culturpg
Childrens’ development 18 universal,

Asﬂeﬂiﬂn

Reason |,Fn"| !

Chioose the :Dﬁ"-’f'* th"m

(1)  Both (A) and (R are true but (R)isnat the correct explanation of (A)

() (A) is true but (R) is fals :

(2] Both (A) and (R) are false,

%ﬁnm AR IR| A i O e wurrect explanation of (A).
TV (A} == g AT A A X !

FOOR): i o P mfm*ﬁmm s

CEREETD 9.

(1} (A) 3% (R) =5 w7 § 5f (A) 3 (R} =% =1 = e &
(2) (A} T8 B 357 () 7o 21

AT (A) 37 (R) 2 e £

(4) (A} 3 (R) =1 =91 & s (A) 9 (R) o e e 2

SocioConstruchivist views of leamning advecate that -

(1) Learners actively construct knowledge
Sl learning is activated by e turing and expl
i3} Effective learning takes place through the

4] Learners receive knowledge P

aining

process of recall and rehearsal
assively from others
HIEA & T - Hiaamsl S90 IH a9 51 T =72 gfF
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Which of the following is a characteristic of effective feedback in the ¢lassroom 7

(1) It 15 broad and genenc. (21 It is only focused on the outcomes.
(3} It himely and specific (4} Itas gaven only at the end of the task.
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Lev Vygotsky proposes that s important for self-regulation in children.

(1) Inner specch (2] Adaptaﬁnn (3 D;Eam;_ﬂti_un 4] Diy.quilihnum
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27.

2B,

29,

30.

While L'I-‘il.‘.-l,-rgi"-ﬂl thjnln.;'i_ng ;- _ conwverpent thinking _

(1) is fixed on cne correct solution; encourages multiple answiers
{2)  Promotes mathematical abilibes: promotes verbal abalities

{3 Promotes verbal abilinds promotes mathematical abilitivs
{#) encourages multiple .'!.n_r-wl*rh 19 fxed on one carpect solution

AT T Hﬁwmm"?nnt:,-_—?ﬁl Exactle ﬁmﬁﬁmt-

(2) TN R ) gream ®; S s s e A R
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After getting ‘out’ m the game dhie to the rope getting stuck in her leg while jumping Aru says that
the rope dehberately got her oul. AL what stage of fean Piaget’s theory of cogmbive development
do children reason like this 2

(1) Formal Operational stage (4} Sensory-motor stage

(3} Pre-operation stage {4) Concrete Operational stage

Tt gt wwn v g S A A a7 e & i 3 e a e
&1 s T & e T (S w e § @ 3w & ok o £

[y ST A e (2) #adE s aET

(3) T HFen e & A HimArE S

Proximodistal principle states that in infancy

{1} development proceeds from head to toe.

(2] development of language tocurs rapidly as it is a sensitive period for develapment.

{3)  Fhysical development occurs rapidly with the development of fine motor skills

(4] the limbs continue to grow faster than the hands and feet,

AT oA e & fF fommen i
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(2) T o T A A A kit e faEm o e sagae sEy £

(3)  HeH Tow w0 & fawm &y wiifos fawm o |

(4) H‘Tﬂ'ﬂTﬁT'ﬁ'ﬂHﬁﬁT?ﬁﬁTﬂ AgA TEd )

Which of the fDElL‘rh'ing are e;;ﬂI:}PIes of :aruﬁniﬂdiﬂi,', 7

{a} Think-aloud === (b] Prompts and cues (c) Questons
{d) Hali-solved example ":-, (e) ERote Rehearsal

(1) (a), (b}, (c) 3 T (2} (a). (B). (c) 1)

(3) (@), )6 (e YL @ @b

= d @ F1 7 e F e f

(a) = =7 HE S (b)  FHA 3T IR {c) W

(d) = A fFm e zzrmi (o) TEE oA

(1) (@), (b)) (2)  (a). (b), ). (d)

(3)  (a). (B). (), {d], (&) A (a) (b)
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PART - 11 / 317 - 1
MATHEMATICS / TIfoTe

Direction : Answer the following questions hysseldcting the corrvect/most appropriate ophions.
T : frefofas ¥vl % 37 27 ¥ [0 W@/ qaR 39 %07 qH)
31. See the number pattern given below :

1, 8, 27, 64, 125, __ @)

What will be the next two terms ? A\

. |}
(1) 216 and 289 (2) 256 and atﬂi 3y 216 and 343 (4) 256 and 289
4 feu M e Y2 T 2fEu .
1, §, 27, 64, 125, - oy
37TH S 92 = 2 2

(1) 216 3T 289 (2) 256 3 343 (3) 216 3 343 (4) 256 3f 289

32. What should be subtracted from the sum of 9909, 9099 and 9009 to obtain 25454 ?
(1) 2365 (2) 2536 =1 (3) 2563 (4) 2356
25454 9 T % fw 9909, 9099 afngmaﬁm‘m H A F FE B 2
(1) 2365 (2) 25360 ’(;Jr 2563 (4) 2356
33. Which of the following statement is most-.appmpnate ?
(1) Charts are used in mathematics cla;q as an effective teaching-learning material.
(2)  Use of teaching-learning material ip‘%nathematics class consume students’ time for practic
(3) Students do not enjoy riddles in mathematics class.
(4) Mathematics lab is essential as it provides opportunities for hands on activities for studen
frefafEd ® | #m w1 w93 999 Afvs 3995 &2
(1) =g T =1 e H U wuret fosm-sfums g )
(2) forequi-saferms | 1 S9ET i 1 FE H faEnfeaAl % A o g9E = g
(3) ﬁmﬁfﬁmﬁmﬂmqmqﬁﬁh
Yoy fom #1 &9 SR # i e AR Tafafe 1 S X €
SPACE FOR RUUGI—[ WORK / 7% & % fom - ”
2,%,% 7 \:% \ 1%, 2784 2
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23 Which o the following 18 55 il o5
. gt EVY |

(1} Word probiems A Sl | gsses only

& i Bl 1111’\._.““
oy Wkt porthep AT RIETLHC jedge N mnathematics
F- BLr A d g o O

e |."1'wni111'ﬂl ko the cjtuaticn i

o aealiEs S
s rofor o EXCTOISS where e child I'{."N"-a]
athematical technigue can e "'I"Tll |

5 o i B

3) Wiord problens fods

(4] Word prob
a spocific m

P s i il
U wmneR e T R ¥ e A

o gaw?&mﬁﬁﬁmﬂfﬁ;&wﬁﬁma‘{ﬂmﬁl

3y T T T A R g e S

Ay A T maﬁﬁﬁﬂﬂmfaﬁaﬂqﬁmﬁﬂﬁm
T AT L
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35, According to National Education Policy (NEP) 2030, assessment of learners include |

(1) Cognitive, affective and psychomitor domaine

(2} Cogritive, socal and spiritual domains

1'\. - - 7 '
Practice (3 Physical and psychological domans

{4} Cognitive and physical domaing
Student, e T ifa

218 T =fifa 2020, F =g, T
) 5 S, 1 HAFET AL
, wim £

(1) FFHErSs, JYEEE 31 9SS Sy
(2) FEATHT, AEIAE, AR S
(3) i 3wt A
J&T WEEE 2 dfaE amm
SPACE FOR ROUGH WORK / T %vd % i =omg

B 24007 2g07  (2leo] el
r 2365 2556 2563 o e
=092 = 255
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421,

43,

44,

45,

Which of the following stMemients is correct 7

(1) 1dsa composite numbser
(2j 13 puath: @ prime and a mensi.l_r_- it

(31 1isneither prime nor a composite ramber
(4] 1isaprimenumber

o F9 T 8 FR-m A i Y
(1) 1,0% =1 e &y

(2) 1EET ¥ U e shr v dem
(3 17 v & s 5 7 apa
M 1 UF s e

Brij had a wire of length 100 metres 1o cover the land of hus choice, He wanted to take the higges
land. Which of the following measurements should he chogse to take the biggest area 7

(1) 30mx 20m (3} 25 % 5m (3 5m ¥ 45m (4 15m % 3Bm 47
A & W A 9EE O TR AR TR 00 e A o AR A g8 TR W R wE A )
Fe=fafmm 9 8 38 8 9 W 25 #m ofen s 3w Adm = 6 s w2

(11, 30m x Xm (2) B5mx25m  [3r Sm x45m (4) 15m = 35 m

A s always a regular polygon.

{1} Square (2] Pentagon (3 Circle (1) Isosceles trangle
™ _ _ HaE AN A u ok

1y =i (2) EvE 3 39 A FHIGATE T

The parcel sending rates are given below :
Parcel weighing (50 grams or less) : 2 15.00 parcel weighing (for every additional 50 grams) - 2 7.00

Meena wants to send a parcel to ber friend Charu in Delki. The parcel weighs 350 g Look at the
charges and seléct the correct cost of sending the parel ; o,

(1) &30 (2} T55 (3 T57 (4) T 42

IEE WA w2 A M E

ATHE F1 W (50 TR 3T TAE FE) ;T 1500 WS w) e (e st o0 I & fE ) 3700
A1 3 WEe = #) e e S £, 3 feeh £ wm e wras0 g Xy 28 1 S e O
=1 HE T G B, ;

) T30 (2) T55 (3 T57 M T
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4.

47.

45.

Which of the h"l]|u1.1,'1ng 15 are rolated loearly momiser concapt formation 7
18} One to one correspondents

(b} Hherarchical inclusion

{c)  Basic operations

Choose the eorrect option |

{1} fa) and {c) (2) (a)and (b) I ol (4) Only {a)
frefeiEn 5 7 59 a8 sy FEn Jmmm F a7 wanm 87

(a) TE=T Huf '

(b) TERFEE HEAYA |

= G Gl

(1) (a) 3 <) () (a) ¥ (b @A) =g () Wy FH (@)

5 Uin teac athemnatics
Which of the following is not true-abou! 'm1l1hp!i':_"rﬁ' ol ;.ﬁwn_-arhr'!‘i in teaching m

{1) Ithampers the learming of child as it leads w contusion.
(2)  Ofering such a chowe allows children to explore and use the ap

and easy for them 3
(3] [tiscrucal for hberating school mathematics from the tyraniy of the one correct answer.

(41 Very often. there are many ways of solving a problem.

e o & v TR A ¥ e freaferfn § B S T T R

Gy TrE= F ST A T # i v s e

o) o S g T 8 A 1 9 IR A AR T o A e e €
(3) A EE R F) T R I R F g A g B (o, See i

(4)  TE EEE AT A F O e ) A e s

pmarh that is mast natural

Yamina threw a die 10 tmes and got the following esults ;

5,3, 661,45 3,3, 2 2 5

Which of the following numbers she got the maximum number of times ?

1 3 @) 1 (3 5 @) &

e 3 UF 9 10 96 S0 s IH et 9imm 9 gy

&3 66145 332

s HEma | # 3 siusan 4 w4 H Hem w5 )

oy 3 @ 1 3] 5 (4) 6 y

W
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43. A student of class 11T solved 2655 as 56
.
100 -l

Revisiting which of the follawing will BE= remediate; this gmonce prion 7
EYIST W oF 4

: ; (2) Recalling mul‘hp'!waﬁﬁn tablog
r” 1_'|'_|]'I|_'E'I_'|-l -I.'I" '|'|:-|:l'_|1:_| 1|_|_I'l1'f'|_|i s

(4% !"-'l'l.f[h'[""i'-5'~"'F'i“-‘ll'l---l--'ﬂ:I one l|lj'.i|f by erie '-Ilr'.lr

(3 One.to.one pOTTEspondentce o

m[ﬂaﬁmﬁizawsﬁﬁﬂmwﬁﬂn 36 ..

Frtftfigs & % o Ste0e 59 Wi w0 umet ¥ fom = 3w A

(1) T F SR | (2) ST} ) yEIy |
e -
13} et HA My TF AF F ugss 3

0. Thevalug of 253%5_ac. ¢ ®]
alue of PR A L L e T PP

A _ ;
BIN61D (2) 950 () —265. .1 (@) 28305
23INS—35+5-3x 1857 g2 . —

1) 64.0 2) 95.0 (3) —265- L4 287305

51. The number of degrees in 2% right angles is
(1), 285 (24— 240 (3) 330 {4 210

2 i iy
2= T | fefoa = den .
(1) 285 (2) 240 (3) =230 (33 (4] 210
SPACE FOR ROUGH WORK / 7% T4 & o0 5778
25 XK — 38 L=0X]8.8
95 B¥E = TR RS
P-1 I )§ =918 X IS
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. ‘Whie : , . .
52 H;;—f‘-? of the following 15 most appropriate to introduce Data l'h‘lﬂdlmg' at primary
(1) Within classroom, collecting statistics of students' heights favonrite food: colaur; cartoon ete.

and asking queshons related to data,

(2} Showing population census of a city for five years and asking students [0 COMPpare populavon

growth

(3) Drawing a bar graph on the blackbaard and asking etudent
Tmings

s o read the data from it.

(4)  Asking the students to read time tables of bus ard train I

. ;
wﬂﬁmmw‘ﬂha‘fﬁiﬂm'%nﬁm%fﬂﬂﬁﬂﬁﬁﬁﬂﬁﬂ?ﬂmwt o )
A N T = one, S e wen, S Ca b G wfr® TG L Fi T

(2)  Femieri = o rmr W iR T ) SAEEn o e s frenfi 1 e Ats Ao
1 |
() v v e dr s St S st R w1 e @ e ® Tt F A

(4) fanier ) wn 3 39 F TEA &) - Anfrd w T F e fw

53. A frog jumps 3 steps amd a rabbit jumps 7 steps at a ime starting from a place ©. At which of the
following steps, they both will be jumping together 7
(1) 37 () 378 (3] 354 (4] 343

mﬁﬁoﬁmﬂmmﬂammmﬁm?maﬁﬁmm%nﬁﬂrﬂﬁﬁmﬂ”
a7 & B U e EE S
37 (2) 378 13 354 4 343

1
54, How many packets ol 2 kg salt can be made from ?] kg of salt ?
2

{1y &0 2y 72 (3} 9D (4) 45
7 kg wﬁi—; kg T F e SR T TR 2
(1) &l (2) 72 L&y 90 4) 45

SPACE FOR ROUGH WORK / 7% &rd & feam 37
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Which of the following should be the charactenstics of mathematical Jarguage at primary level *

{-1]1 It should be Precise, 57
{b] Tt mmst be ambiguous as it can add openness in the subject.

|:L‘]I It shaild be reinforced through child’s hngunge used in E‘I.P-El}'d?l_',' life .

(d}  Ttmust be highly techinical as it will help students to communicate accurately in mathematics,
Choese the correct option |

(17 fa), (b and {c) (2) (&) and () (3 (@) () and (d) (4) (a) and (d)

forerratn 3§ Fi- T wf T w fewi s e @ i 2

(a) ¥ TR EE A

(b T TR BT Wi miw v fewe e e HE

(o) W A At T # A w9 S s A 3 wete fem A =it |

(dy T st wfAts B wfen et peR B w wfr o e e w0 3w A

e e o5

1 @ MR @ @A L @)l ) @) (s a2
56. Whilesolying 1587

il
!

in class 1L, a teacher explained that we have tosubtract 7 from 2 and 2 is smaller than 7. 5o we wil]

borrow ane from 8 and then we can subtract 7 from 12, One student told teacher ; Mam | why we

are barrowing from eight, as borrowing is not good. What a teacher shimld do in such a situation ?

(11 Teacher should change the word “borrowing’ to ‘regrouping’ and then show the process of 59,
ﬁ?g‘l’ﬂupmﬂ_

(2]  Teacher should tell the student to focus an learning the algorithm of subtraction.

(3] Teacher should ignore the student's question and continue with her work.

(4} Teacher should sceld the student and make him st

FEINE  1az

=

ﬁﬁ%ﬁﬁamﬁnﬂm%ﬁ?ﬂzﬁﬁmrﬁai‘nz,iﬂ?it?ﬁl THfAT B 5T
T M ] TR S A e (2% A7 T FE F G | T ==Y st A e e e e E o

AT IR I sy A8 a5 YRR § spenfrm ) e wwn antee 610,
(1) i) &) 39 T =1 agesl TTHIEERT | 557 I S Ay S AR
e e |

(2 T A= we i IR W e el s o e 2
() S # A= S W W A AT i S| ST A T e |
{4) PEmTOEl B =T F1 Fie W A oA A6 |

SPACE FOR ROUGH WORK / T% &4 # fom s
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Which of the following statement 1s least appropriate for encouraging mathemag ;11 i 2 .
(1) Everyone can learn mathematics.

(2) Mathematics learning is not gender specific.

(3} Discourage intuition as it hampers the development .
(4)  Failure does not imply that students cannot do mathematics

Pt & 2 2 e T ST = S 0 3 (o0 T FH IR 62
{3 Ty o it wEA R

(2) i st ree- et 7 @ i

() R T T S S i i S e A
(4)  STEEE T a9 w i femed it W

of mathematical ideas:

ﬁmrﬂ'ﬂﬁmﬁ

Whichk one of the following costs least ?

(1) 750 packets of T 7.50 each (3] 7.5 dozen items of T 730 each itemn

(3} 75 dozen items of T 7.50 each 1tem (4) 75 packets of T 750 gach
Frefirfmy & % frmat @ Weg #R £/
TR0 v e A 0 e (2) 2750 TR e A 7.5 79 50

(3) T 750 WA mE A g5 S WY (4) 750 S e A 75 e

Which of the following model is least appropriate to develop the conceptual understanding
regarding the relationships of ones, tens and hundreds in parly grade learners ?

(1) Money (2) Abacus
{(3)  Flace value chart (4}  Dienes blocks
a5 3 = H GiEw YAt we 5 e | g, 2 o dwe F gay 3 an A SEa S

(1) = (2 T
(3) TR A AR (4) BT =

Which aspect of evaluation is used when a teacher ensures that test made b} her lalhls the L‘l}:lj-EfLi"-'E’.‘il
and criteria of that test 7

(1) Practicality (2) Reliahility (3] Consistency (4)  Malidity

= Tt == gfafras =0 & 5 o0 30 999 "™ &2, 30 T F =i v w0 6 00 F 2 o
Tt # o w1 o T £

(1) =i 2y fEvEnEES (3) FE (4) A

57
EE.
1l
"B
7
f oo
Ex
T
B,
0
..J P-l
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PART - 11 / 377 - NI
ENVIRONMENTAL STUDIES / 9gfaxvl 3/eaa G-

Diirection ;: Answer the followmyg gquestions by selecting the correct/most appropriate oplions

Frdor : Frlerls w1 & a7 29 & forg W WAR ST (e g

61.

62.

63.

Which of the following best reflects child —centred strategies in teachiig EVS at primary ey )

(a) Discussion (b) Demonsiration
[c) Lecture {d] Survey
; : b
(13 (b)and (c) 2y (e} and (d) _[]‘fl ta) and (d) (4) (a) and (b
Fresfonfar & @ @ - i T H HETH S i g
a)  w=) (1 CELE
(€)oo (dy A 65
LV N 2y fo) 3 (d) (3 (a) 37 (d) 4 (a) 3 (B
E::mpmhf'nqiff’ 1-:"\,-"1.]ua1inn mMeans ]l.l_'l-li‘.t'll Wy Ili I-'l'.,-'diuah[lﬂ il "||.1.|.|..|.E'|-|1 Thf-' 1'*'."1:"!}" in u‘hjl I'I
= teachor can assess her students for comprehensive pyaluation in EVS are -
(1) hats vearly and anmoal exams  (2) rating scale during assessment of actvihes
3 bR ;
(3)  portiolia (4} teachers' observation
ST A T e & U T ) et B o w Af | o A A O S e
SAIE EATHA F {670 a7 o1 1 e aw am o
(1) =EEdE 3 =i giey (2) it & e e T
Ly S (4)  Toersl 1 apEdEEA
You wish that students learn by pecr-learning strategies. Which strategy will yvou adopt to fun

groups 7

(1) Make a homogeneous group of students according to their scores in examination
2) Make a heterogeneous group based on participation and couperation

(3) Form a group of 5 students of same pender and sociv-econumic background

(4) Make a roll number-wise groups of 4/5 students

9 =ed ¥ £ 2 TeuE - oG g A | S 9 S S 2

(1) e F S 3 % ATEN BT 1 0 qEE JHE @ |

(2 it 3 T F AR T fam T A

(3) = fem si annfae - anfde gt 5 5 a6 w1 0F T T

(4) 4/5BE0 F TS A9 F AT FYE T |

P-l [IENEmmn &t
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O, FVIIRIUUL LR TUIUWLE SETS Qépicts the WRETRES OT BV AT priman idvel

(1) Food, Material, Shelter (0
(2) Family and Friends, Travel, Matural resources

(3)  Shelter, Travel, Things we make and do

(4)  Weather, Water, Travel

et A A FH 1 g wafe w0 S & i iy

(1) ¥, T, S : '.f-‘.f 1
(@ e sl f, e, i S =
(3) syra, A, b A e & S el,._;r
(4) HrEm, 71, AT C )

68, Read statements (A) and (R} properly and then answer the r’-'!ﬂ'En'l.'- g, queshions
{A) : Silkworm can find his female worm from many kilo metersiaway by het smell
{R) : Some female {nsects redease ‘Pheromones” which can be tucnrm‘mj by their males by sme||

Choose the correct answer -
(17 Both {A) and (R) are correct but (R} does not explains (A).
(2] {A) is correct but (R) 15 incorrect
(31 (A) is mcorrect bl (R} is correck
["1!| Both I:."g]- ard [R] are Corihes b ard 1“} F'-!'A.‘I"E;'IIIH ‘..l'-.'l. T-‘:
mlﬁlmﬂﬂ'ﬁ v 8 i A it Wl o e
(A) : ¥ T FrE e e # A A G R 53 A E e o
(R) : ’Eﬁﬂmﬁ%&ﬁm{ﬁﬂ#hﬁmrﬁ?&nsﬁﬁnﬁﬂh
Fr=tatEs § & w8 s 57 3 w1
(1) =H 99 (A) wa (R) 7 E T (R), m}ﬂnﬂmqﬂmﬁr

12 (A) #E R Ry R
(1) (A)TEE & e (R) T
(4) = Y (A) TF (R) T E AU(R) . M]mwﬁmmal

69. Seema. an FVS teacher organised a hield tnip to zoo for her sfadents. Which of the tollowing e
the most approprate objectives of the tnp o the zoo 7
(a) Recall mames of arumals in the zoo
(b} To relate concepts related to animals
(¢} To promote process skills
(d) Assessment of students’ learning at the zoo
{1} (b), (c) and [d) {2)  {a), (c) and (d)
(3} fa) and (b} {4)  (a), (b} and (c)
Him), UF AN a7 w9 o F A Afzamn uE dsoem (Fes frm) w s e
fretead |3 8 $1 fafzarn 1 9 & 79 s sg §2
(a) THEIE9MT F F=E F 99 TR F0

=i

b} FEN A Feld AEdEma & e @
(c]  FiHE FI9E ) awE A ,:,-,
(d) =z § aE & dmm w1 9w
by, () # (d) 2) (@), (&) 3 (d) ]
(31 (a) 3 () (4) (a}, (b) 3 )i
20 T 8 !



70, What 15 the mass of an abject with a density of 12 i/ ml and a volume af 3 my 5
(1 g @) 3¢ (3) 48 i e
TR 5] N EEEE A S R e 12 i ofrer ¥ a¥) AT 3 et =iy
1y 2um Ly %M (3 4T (e
71. The terntonal states of Harvana are |
(1} LUttar Pradesh, Uttarakband, Madhya Pradesh
(2} Himachal Pradesh, Punjab, Bihar
(3)  Bihar, Punjab, Uttar Praclesh
(4]  Himachal Pradesh, Rajasthan, Littar Pradesh
wfrmmm F dorrad e f
(1) 3 W9, I9ave, s T
(21 Teom wEw, e, EEE
(3 feem, oo I WA
T TP WA, T, 3 CEL]
72. Read the given stateménts l,_'.ll'l"tLILl:-' and chiose the corcect UPHL"T"-
Assertion (A) @ We can cook food easily at sea level as compared to higher altitudes.
Reason (R} : At high alutudes, boiling point of water increases
(1) Both (A} and (R) arc true but (R) is not the correct explanation of (A}
(2} {A) 15 trae bul (R) is false,
{3 (A} is false but (R] is true.
(4) Both (A) and (R) are true and (R) 1s the correct explanation of [A).
ST T Al F] YA S T 5 W e g
AEET (A) 1 T g S F ge § qeE 79 T SE § @ 9 w1 E
=0l (R) s = T O w5 EE S a WA |
L & (A) 57T (R) T € SRR (R), (A) F1 A0 TrEET A6
(2} (A) T € AR (R) 39 2
(31 (A) ¥= & =4 (R) 799 &)
[4) A (A) 3 (R) T & S (R), (A) FTEE S E)
73. Doctors prescribe blood test for patients to confirm malaria. Blood test is done to :
11) check iron in blood
{2}  check for eggs of female anopheles mosquitoes in blood
(3 check for microbes in blood
(4) check for haemoglobin in blood
i il § gt #1 weeE & oo ge oA we F o Fefm e ) g Se a
(3 ZE IUTE T A 1 A w6 =
(2) 3%H W1 qw & AE A Fufeafa v awm
(3) 35H FurEEa Sfiam 1 g 6|
(4) 3T AR FHEEEA 1 ua
O LN TLORT 23




| a8

74. Ithasbeen observed by bird watchers that there is a pecaliar species of birds. The male bird maj,

.. their own riests and the female bird looks at all the nests and selects the one she likes the best any o
decides in which nest to lay her eggs, The name of the bird s | 5
l' NN (2} Indian Robin (3 Sun bird (4] Taillor bird
R AT T AT e Sa Fen ® T ofamf s o e womia O T madt v - ST ST g
£ i e A W e a3 T A S A A e v E T W e e 3w ey
R | T AR
o4 GiE iR (2] FHEHEE (3) v T o e
Students conduct a survey in thor homes and neghbourhood to oot it e il i
and approxumate amount of water Use o in each fanuly. What skills and processes are developg,
through this activity ?
(1] guestionming. miernng, EXPTESsIn
(21 il '|."';_|1|1-|.1'-:Il-l_f'|;_"_. -iuf-p_[-m“_.l_ l".!t]."!'l'*-'uliil;1'|1
(1) predichon experimentation, obsarving
(4] queshommg, expe rimentation, sensitvity towards environment
s, iR § Tl = Tem AT U A A S S w5 0w A e g A ik
& e el w1 g AT & T @ 404 A Fhve sf gheon faetae w5 o R
1) TwAmE, g SEE, A
:] "'['E.-"l;irl Q1‘T|:|'|'|"q ‘_-—_I—i'lﬁ:rl'l a:lfﬁm'h"_"
AT R, T, e |

(4) W TE, S 0, S & Ui Hege e

76 A chapter in EVS textboak of NCERT describes Wahida Prism and her experience in the Navy ag
adoctor. What are the reasens for including this chapter ?

{al Her experience challenges gender stereotypes

(B)  Her story gives a peep into the life of a medical officer in the armed forces

{¢}  Understanding that prism reflects 7 colours

Id]  Understanding the difficulties faced by her and her ways of tackling them

(13 (b} (o) and (d) (2) {c) and (d)

3} {b), (d) and (2) (4} {a), (b and {c) '
AL A, # AR, NeITEE & U e § e R i e = % e o
FvE &) A | TR e R o

(a] FF@1 A9 AR Egdl & A 290 |

by  Za we AR wE v Sl S & dEe 6w e A

(c) @ wge o form 7 100 1 2o & |

(d) 5% aeA AR F wfenmE o T R & i ST

(1) (b}, () #7 (d) (2) () = )
B (), (@) 37 (@) () fa, b))

P-1 ML 24 .



77, Censider the following statements (A) and (B).
Statement (A) = Bora 1s a common variety of nice used in Assam.
Statement (B) : Paddy grows well in clayey sol and requires a lot of water,
Select the correct code from the following
(11 {A) and (B) both are wrong (2] (A) 1s correct but (B) is wrong
(31 (A) s wrong but (B) is correct (4] (A) and (B) both are correc!
A= fow T ot (a) 3t (B) T forem
HUF (A) ; T 3wy o F7E wL A A HE R U O e

FEA (B) ;. w5 1 & Faat gt o st et & v 9m v &1 vy o o we e

t'ﬂrﬂc‘“—r—rﬁﬁﬁﬂqﬁmﬁ;
(1) (A) 31 (B) 29 7o 2 (2) (A) 56 # qr= (m) e R
() (A) TR B W (B) wE B L (A) i () B ma@ E

7B, Ft‘*{31f1mpﬂ_lli" ts famous district for its beautifully designed bright coloured sarees and for the
special kind of weave which is also called Pochampall: 1t is a part of !

i1} Karnataka (2} Maharashtra (3] Telanpana 4y Tamil Nadu

W g FE1eR 3 S At oA o v e g o o e 6 e
% o fawem e 4 o Prefefmn o 99 formary wm 22

(1} FAE® M e (3) A (4) T

79 AnEVS teacher asks her students to think and answor *Why do we leel comiortable in woollens
clothes duning winter”. This question is a

(1} analvtical question {2) hvpothetical queston
(33 factual guestion {4) convergent question

e Fef TR AT T B T it e 29 fo e e R Wi ¥ A w R o
HEA TEHE w0 b | TH TR N

(1) faweromEs 9 (2) w9
(3) ATTHE T L&y wfiEE ¥
P 25 J



§0. Read the following statements carefully
Statement (I} : EVs syllabus 1s divided into 6 themes Water, Relationships, Food, Tran, 4,
Shelter, and How things work i
Statements (I1) : The themes of EVS are ¢lose to children's life:
(1) Both Statements (I) and (I1) are false
(2]  Statement (1) 15 true and Stalement (IT) 1s false.
(3}  Statement (1) is false and Statement (11} is true
(4}  Both Statements (I) and (IT) are true

=

Tt ordt 1 v # fen - e
HEF (1) . ¢ off T WA F 6 ofin o =y # e, Syt T, TR, AT, ,
9 F TR

e (1) + ot & o T offm % T
(1) = e (1) () T R

(2} a;mmm‘z%fzﬁmunﬂmh

(3) w{nméﬁm{mnﬁl#.

L A e () T () HE R

i Texthog)s of EVS should reflect the recommendation of ™
o their Jife myutside, This inplies :
() Textbook i the omnly source of knowledge.

¢F 2005 of hnking atudents” life at si,

[.ZI Textm’k“ ﬂ11FF“'i'.le ﬁmd.':"l‘it:"- (] L.-“_nHl-ru‘-t kn”“.ll_\dgv lh riiid EJ‘ ﬂJ[ t]IL‘ ﬁ’!‘-“f"n &LT.'I'I.I'I.II 178
(3 Teachers need to use textbooks as one of the teaching learning resource.
() Smdents are compelled to memorise few Important concepts of EVS.

=0 T Sy =) ] s 3 e =3 4% A S G WG T, 2005 51 54
I ST o e yw a2
(1] wﬁiﬂﬂﬁmﬁmh
A2 TEIEE i ) s s 3w S e @ 9w i EE H e
(3) TV =) Sy ) R s demE § o dEs % w0 8§ IREn # F AETE
(4) TR EVS F ey sEumnE 1 9 w6 and #

82. Read the following statements carefully and choose the correct options :

Statement (A) : Xylem transports water and minerals from roots to rest of the plant.
Statement (B) : FPhloem translocates food from leaves to various parts of the plant.

(1) Both (A) and (B) are false (2} (A)is true, but (B) is false
(3} [A) s false, but (B) is true (4}  Both [A) and (B) are true
T, T, e %] A F W6 UH Hel ey g

' T (A) : T T S G B g A 9 T e A e
FEA (B) . AR T F 9Tog § W 3 fafus i § weite s
(1) =i (A) 3 (B) 7 el # | (2} (A)=E # 3 (B) A
(3 (A) TR § T (B) T R (4) FF (A) 3 (B) B #

P-1 NN 26



3.  Alex, an EVS teacher of class 3 while introducing the theme “Work We Do helpy his students o
cut colourful strips of paper and weave the strips to make a mat. The edges are gl bigether to
make a beautiful mat. Which of the following objectives should Alex help his studeng, {p'.'_-,’m ]

(a) learmning about colours, patterns and developing an pesthetic senss

(b) relating the achivity to weaving done by weavers

(cj memorising the steps of making mat =

(d) choosmg papers of attractive colours and fﬁﬁina cuthing of strips porfectly,
(1) (b){c) and (d} (2)  (al fﬁ} and (d]

(@) fa) and () @) (afgt) and (d)

T 3 % TF 2 T w3 A A g et A g w0 g AT ‘_*"‘Tff'ﬂ"'ﬂﬁt
it el = wh st Wi A T F wee | v e e A ¥ P A
Fewarrm amn B Frerffion & # 50 va & rhmrers o B S9R FE F F E R i

(a) T, &= & A A mm i e A R

(b) T it ® g g R 9 A A e w
() = = =5 = fafe & =l = aw

() s o 3 A st R A 90w A e e

(1) (b, (o) 3 () @) (o) e (@)
(3) () &g M () b))

4. Nma,.an EVS teacher of class 5 fives a group é%i.gnmem to her students: that they have to vt
nearby agricultural farms and find out informatian about the implements used by farmers durmng
ﬂgl'iﬁl]hl.t'l: and the |."|-IJ'E' ol |'_""|'H-FI_"-; ﬂ'lE"'r" Erow. %'ﬂl!‘-ﬂ have to collect [:I-hﬂlilﬁjfﬂp]'lﬁ and ]."‘I-EF'E-'" 4
report, What process skills and learning indicators.are involved here ?

(1) Questoming. Experimentation, sensitivity -teavards environment

{2)  Hypothesising, inferring, expression

3] Prediction, experimentation; observing

(4) Quesboning, Expression, Inferring

1 5 3 EATR U i g S TR ST 3 & e o v e v A A 8
M F A B gm I e A ST S S o s A e A A
ST AT T £ o e e o e # 1 e @ & e e T &
EME B ==
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| PART - IV
I LANGUAGE - | : ENGLISH it
IMPORTANT : Candidates should attemipl guestions from Part-1V (Q. Na. 91-120), if they hm'
| opted for ENGLISH as LANGUAGE-] onlv, b
| S|

Read the passage given below and answer the questions that fallow, (91-99)
Yet as soon as she saw him, she did net Iook az Alfred theught ehe would look | she smiled, by
blue eyes never wavered, and with a calmness and dignity that made them forget that her el
seemed to have been thrown an her she put ant her hand to Mr Carr and said politely, Ty
Mrs. Higgins, I'm Alfred’s mother ”
Mr. Carr was a bit embarrazsed b her Iack of terror anc her simplictty and he hardly knew: Why
to say to her. so she asked, “ls Alfred i fronible _
“Heas. He's been taking things from the store. [ caught him red-handed, Little things ke compae,
and toothpaste and lipsticks  Stuff he can sell easily,” the proprietor sakl. §=
Mrs, Higgins put out her hand and touched Sam Care's arm with an ur.!ﬂr-rnnd|n$ E-E'nlifvl"'lr'ﬂq
h and speaking as thongh afraid of disturbing him. ahe-said, "If you would only listen mt" it '!'Irur;:;r:i"
vthing” Her simple samestness made her thy: her humility made her F:I.lt'.'T ﬂn.!..lr.'u_h ‘?w"";'r' ; ""'I' 1
ment she was smiling gravely again and she satd with a kind of patient dignify, “What do you nting
o odo. Me Car 7
“I am going to get a cop. That's what | cught to do.”
“Yes, [ suppose so. [t's not for me to say, because he's my sofi.
advice is the best thing for a boy when he is at a certain period in lus life,” she il
Alfred couldn’t understand his mother s quiet composure, for if they had been at
had supgested that he was going to be arrested, he knew she would be in a rage and would oy iy gead
dApgainst hirn
Fl.: ‘iR lf.umﬂ;'r_n,- made her falter...'

vot 1 sometimes think a lttle goog

home ard somes:

Lhoose the word apposite in meamng to the underlined one.

(1) frankness 2T intrigue (3}  hitch (4) pride
32. Which of the following statements is not corpect 7

{3 Outside, hEr conduct was Bke that of 4 caring mother

(2] When she introduced herself, Mr, Carr felt stupefied

(3] He felt that he would have to forgive Alited.

(4} Athome, Mrs. Higgins would have been enraged,

91, Whuch of the following statements is not cornect 7
(1} He stole cream, compact and lipstick from the store.
[3r At Mr. Carr's accusation, Alfred’s mother felt intimidated.
(3) Yet she was verv gentle in responding to him.
{4} Alfred was a petty thief.

84. Hawing looked at his mother, Alfred was :

{1} scared (2)  pleased 3 surprised (4) shocked 'll_]ﬂ_
95. ... he hardly knew whattosay toher "
The underlined 15 a/an clagse,
(1) Noun 147 Adjective (3 Adverb {4) Principal
P-1 IR 30 J P




6.

97.

aK.

99.

Study the fallowing statements !

{a)
(b)
(e}

Jots
(2]

(3]
(4)

When she entered the drug store, Mrs. Higgins was not propecly drgg, i
She looked like the mother of a guilty persen.

Mr. Carr did nat expect her to be calm and dignified.

(t7) and () are right but (a) is wrong.

(a) and (¢} are right but (b} is Wrong,

(3) and (b) are w.mng but (<) is right,

(@) and (b} are right but {c) is wrong:

.. made them forge that her clothes seemed

The underlined word 18 afan
(1)

_ I 4 Memin
Pronoun (3 Preposition (3) Conjunction (#)

... her blue eves never wavered'.

Choose the word nearest in meaning b the underlined one
{1¥ Thesitated (2)  waved (3) snickered

(4) -advanced

Study the following statements

(a]
(b}
(1)
(3)

Mr. Carr intended to get Alfred arrested, :
Mrs. Higgins wanted him to be given a chance to reform himsell
(b) 1s night and (a) is wrong. I Both (a) and (b) are right.
Both (a) and (b} are wrong, (4] (a) is right and (b} is wrong

Read the extract given below and answer the questions that follow. (100-105)

All the world is a stage,
And all the men and women merely players;
They have their exits and their entrances;
And one man in his time plays many parts,
His acts being seven ages. At first the infant,
Mewling and puking in the nurse's arms:
Then the whining school-boy, with his satchel
And shining morning face, creeping like snail
Unwilling to school. And then the lover,
Sighing like a furnace; with a woefu] hallad
Made to his mistress’ evebrow. Then a soldier,
Full of strange caths, and bearded like 3 pard,
Jealous in honour, sudden and quick in quarre],
5E’«Eku1g the hlbb-lE-TEth‘aliﬂn
Even in the cannon’s mouth,

100, What de ail men and women do 7
13 indulge in indoor games like chess, cards, etc.

(2]
(3]
(4]

play outdoor games like foothall, cricket. ete.

tight wirs
perform various roles in life

P NI 5,
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101.

102.

105.

104,

107.

P-1

103,

104.

108.

' their exats and entrances., .

The figure of speech used here is

(1)  Metaphor Y Personification (3} Hyperbole (4)  Simile
Why 18 the lover's sign compared to a fumage ?

(1]  He feele emotiomally charged (2)  He offers warmth to his beloved,
{3Y" Heis writing a ballad (4) He gots angry very soon.

[dentify the figure of speech used in the first line.

(1) Metaphor (2 Personification  (3)  Hyperbole (4) Simile
A school-boy

(1) looks beautiful in the mormng.  (2)  likes his teachers,

& both (4) and (1) (4) s reluctant to go to school,

A soldier is wealous about his honour as

(1]  he s very sensibve about his honour,

(2) he is ferocious like a leopard

13} he wants to win al any cost.

(4 e s ealous of s enemy.

Which one of the following statements is NOT correct with respect to the given sentence it
Sentence - Rhymes, songs and chants are ways for chaldren to

1) memerize words and sentence structure.

(Z) prachse pronunciation.

[3y" enhance expression and the rhythm of sentences.

(4} extend vocabulary

Which approach/method doesn’t encourage learners to use their native langauge in a langua,
class ?

(1) Communicative approach {2) Direct method

13 Audio-lingual method (4) Natural approach

Which one of the following is NOT true about using the library at the primary level ?
The library should not just be seen as a storage space for books, rather

{1} as an active environment for enpagement with books.

{2} teachers and other adults can also model reading behaviour in the libranes.

A4 a read-aloud of the textbook can be best done in a library,

(4)  learners can be exposed lo a variety of genres of children’s literature,

L LR N | 42



109.

110.

111

112.

113,

114.

Literacy teaching approach that emphasise the relationship between lettors 5.4 Rt
18
{1}  grammar trapslation (2 "{ﬁualinnul approach

P phonics ingtruction (4] ]_.f-:';llt:rlu language Approach

2t L

Y

A gmdmt of clags 'V says, ] F|1..1_" my uurk 4 fﬁ‘tﬂ! chuh for accuracy befoys ey

(1} Re-drafting {2) 'F"L‘u-uf rr_'a.dmg

{3 Peer-evaluation (4] !Lrafting

A third- !_,Ta"-h-, sacher w 'I‘vh'éﬂ o II“'FI:'IE"[I*J}'I a l'i"I:'IL'Ii.rIF.r corner in her class, In M k ? e
for selecting a children's book, which one of the foll wing questions would e st
be considered firsi 7

]udFﬁ'"-t-ru:,.
POy tiy
(1) Are the books written for the independent reading level of most students iy o class o

(2)  Will the books help address the goals u_f I:h..n third-grade reading curricilum 7

AT Wil these books be appropriate for use m_m.nm than one instructional context?

{4} Are the authors of these books well-krioten and respected authors of children's literature 7

Which approach/method is geared towards H'l? e nerts AL goal of using language in a real-life
context 7 _

{1} Communicative approach =T Djrur.t method
(3} Audio-linpual method (4)  Natural approach

A teacher in class 11 asked her learners to ask their partmers five gquestions about their abilitics
using the word “can’, e.g can you swim 7 This type of activity enhances :

(1) Controlled oral practice 427 -FI"E‘E spraking

(3) Passive hstening (4) _.{j:a_] fluency practice

Which one of the following 15 NOT correct db:ﬂt teaching grammar effectively ?

B

(1)  Elicit relevant rules of grammar. 3
(27" Provide practice in communucation, r__,
(31 Learn grammar by memorizing its rules.

(4) Fromote geniine communicabon.
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115. A teacher is plunnmg to collect a variety of Teaching Learning Materials (TLM) for his clais |
students. Which one of the following 18 NOT a correct criterien for c_"]_'l.ljl:'mlfnérl TLMs ? '
¥ The material chosen should provide adequate opportunities for the children to explore a,
experiment with curiosity.
{2)  The material chosen should be preferably ocally made or locally available, as this: wayl,
allow for easy replacement,

e | a8 Loy A
(3} The material chosen should be made by the childrdh only and have same roughne LT
slippermess.

; - o . ig ace I'|'.|_||.1|,'_\I | i 6 L5
(4) The material chosen should be attractive il sk . hildeen of this age g

iy ; iners work. The abjecti,
116, A teacher asked the leamers to exchange workbooks n:_ul_u hack their par

of this task.as o

(M give practice in using new vocabulary.
(2} gve controlled praceoe of slructures.
(37 develop the skill of peer cormection:

(4] give praciice i extEnsve readdihg.

s arning when |
117, Children i the foundational stage-are mMore engpagt d in learuig

¥ they use mulbple senses and actively use thewr hands,
() l.h::-'c teace or write lelers repeatedly in their notebooks.
(3} Hhev focusonly on developing fine motor t.h:]l.a. |

(4) they sing rhymes after the teacher,

o

118. Which one of the following is NOT the principle {:J;-_.E-ezl:-c.t_bm:-k design at the foundational stage

4" Presentation Prnciple (2) Concrete Principle
(3] Technology Principle (4) Curriculum Principle

119. To create an inclusive, welcoming and joviul environment that RUP‘PE{"':‘; EVETY |.11-|||__p.1 participaty
in achieving the competencies outlined in the Mabonal Curriculum Framework (INCF) can be b
doree by -

L& majorly focusing on the learners good health and well being.
{21 displaying children’s work from different domains of development.
(3) decorating the classroom for a colourful environment.
(4) conducting indnor activities and avoiding them frpm outdoor activities m scorchmg, e
=
120. Which one of the following should be mastered to beliterate 7
¥ Sight vocabulary and paftern recognition. 755
(2} Decoding and language comprehension. ()
(3} Accuracy and phonological comprehension. ¢y
(4)  Phonological awareness and fluency, b

s

——
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PART -V
LANGUAGE -1l : ENGLISH

IMPORTANT : Candidates should atfempt questions from Part-V (Q. No. 128150), if thay have
opted for ENGLISH 45 CANGUAGE-IT enly '

L ——— ]
“.E.d thlf' 'PH_EHEE Ej'l,_lﬂn l'lEIl',IW lnd Jnﬁ?if_'_l" Ihf qufﬁﬁ":'“? that fﬂ"ﬂw. 1111-11“h

But the Lion went into the forest and Found his own supper and no one ever knew what 1 wae for
he didn’t mention it, And the scarecrow found a tree full of nuts and filled Dorothy's basket with Ih:E*rru
so that she would not be hungry for a lengtime  She thought this was very kind and thoughtful of the
scarecrow, but she laughed heartily at the A kwird way in which the poor cresture picked up the muts
His padded hands wire so clumisy and the mits so small that be dropped almost as many a5 he Fut in the
basket. But the scarecrow did not mind hawelong it took him to fill the basket, for it enabled him w keep
away from the fire, as he feared a spark might get into his straw and bum him up. S0 he kept 4 g
distance away From the flamos, and only came near o cover Dorothy  with dry leaves whan she lay
down to sleep. These kept her snug and warm and she slept soundly by until mormng

When it was daylight. the girl bathed her face in a little rippling brook and soon after they: all
started toward the Fmerald cibv,

This was to be a wondorful day for the travellers. They had hardly been walking an hour when
they saw before them a ditch that Jav across the road and divided the forest as far as they could see on
either side '

121. ... she would nol be hungry', e
The underlined word is a/an oy
(1) Adverb () Conjunchon  (3)  Interjection (4] Preposttion

122, Study the followimng statemoents ; ]
(a) Dorothy was obliged to the Searacrow,
(b} The Scarecrow vanguished his I_'L'.ungur with nuts
{c) He gathered so many nuts that no one would remain hungry
(1} (b) and (c) are wrong but (a) is'right
(2} o) and (&) are wrong but (b) is right.
(3} (a) and (b) are right but {c) is wrong.
(4) (a) and (b} are wrong bul {c) is right,
123. Which ong of the following statements is true ?
{1} He knows that the nuts are good for Dorothy.
{2} He shelled the nuts for Dorothy.
(3) Nuts mostly grow on bushes-.
(4) Scarecrow is not caring. i
124. Which one of the following 5t.altumglnl_1‘;}i£ not true ?
(1) Lion could not eat the nuts pathpred by the Scarecrow.
(2) He decided to hunt his prey.
(3) Dorothy felt amused at the 1&45..'&:11-&11'{;\.-.-' pathered the nuts
(4) Scarecrow was afraid that rhg_i’ijan might kill him,

125, They kept her snug., “m]
The underlined word nearly meanrs"glﬂ'! RAINE A |
(1) messy (Z) cosy (3) sordid (4] dizzy
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126. Study the fﬂﬂﬂh‘ing statements :

(a) The Scarecrow gathered nuts as the tree was full of them.

{B)  He frared for his life s he 7ot busy in gathering nuts,

(1) (b)is right and (a) 15 wrong, '{2}. _hi.Eq_-_lh () and! (b) are right.
(3)° Both {a) and (b} are wrong, (4} ﬂ-‘l} 15 -ri.E:l'll and (B is wreng.

127. Mo one ever knew whatitwas 1)
The underlined is afan . {ClaupEy Y aeinal
(1) WNoun (2) Adiective 3 Adverb (&), | Erineipa

128. Whach of the following statements 15/ are e ?
(1) He helped Dorothy to keep warim at iight,
{2) He kept the Lion awav from Dorothy
(3) Both (4) and (1), i
(4) The Scarecrow was kind-hearted a5 he filled the basket with nuts

' . (129-135)
v and answer the guestions that follow. ( : _

EER t!‘le i hflflw ; Jai 1:]- o i6 "What do you think. is the most importan

Usually the hirst question | ask a newhie birder s, - "m P

! i e 7 ! ars, v
sical requisite to-'be'a birder 7 Your eves, FOME ears, omtt & s : ; |
i"‘h} 'ﬂl:‘:h“l l-llh-n_ '|_h|_" ATISWET is "C"t'l"li"_ gt :\.'111,-4_-4—;.] L‘Er. '11:'|'Tl|.! (RRLLA] what 15 th I"|"|{1'“_I'I!'I'l.'[.11."|"l';;'lT1r 1’rt['ll||'l, - &
Joast Iac'cmdm!-_._ to me © YOur oars. Spottng birds in foliage is hard enough, butif you hear them, v,
past b =

1»::1-9“'5111:33.- a;:‘ lili:.:q:.jﬂﬂpr mormng | realised it Wiml‘{ much h."}'-f'?nl.i that Th‘_" first 'h!rd c.]lll I heard ag
laft th t;_lt :‘:J o :-m' walk was the madcap ringing Taugh of black-rumped Hnmph:.l-n, -?ml' :Eer i-c.}:llmwn i
r;: tnT 1r:nuwaeci ,'.,.,-,u,,{F..'-.:kpr_ It was a wild, éxultant faugh that set tJI'Ir' tone and mooc ﬂ;l € entirg
da;'ﬂﬂn;d then 1 realised that every bird call efdkps a different réaction, MEMOTY OT EMOLON In t,
listener. 8 : : B
Indian myvnas. for example, invariably remifid me of people in Delhi-always ready -}“ ar.igu.,n ang
pick a fight belligerent and m your face. Yet, ther taught me not 1o mﬂ.kf' ”':"' EEPf?EEE"-?;‘l“_Eﬁd_:.!ﬁIH
because when a pair perch on the window sill_jn the ﬂﬂf‘-ll‘lﬂﬂﬂ?r H?E} hav E_ ml; ghul civilised
comversations with each other. There is inquiry,; hymour and affection in their voices.

129. “The first bird call I heard as [ lef| (he house ...
The underlined 15 a/an clause. =
(1) Noun (2] Adjective (3) Adverh (4) Frincipal

130. ‘It was a wild exultant laugh,..’
The underlined word is a/fan

(1) Verb (2)  Adverb (3) Adjective (4) Noun
131. ‘... belligerent 1n your face.’ ]

The underlined word nearly means the 4amqas :

(1) noisy (2) musical ~ {3) different (4) hostile
132. Study the following statements ; -

(a) The writer approves of the conduct rLf_’-_DE"JhE people.

(b Indian mynas are generally known for their noisy quarrels.
(c} A myna couple can also be found en!_n}ring themselves.

(1) [b) and (c) are right but (a) is wrong-_

(2) (a) and (c) are right but (b) is wrong:

(3) (a) and (b) are wrong but (c) is right.

(#)  {a) and (b) are right but () is wrong,
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133, Why should a birder have sharp ears ?
(1) The lurds priel cach other with ther maorming calls.
(2)  One can ensily locate them from their chirping,
(3} Their shrill shrieking can tell one that they are in danger
(4)  One can easily distinguaish their mating calls.
134, Study the following statements

tﬂ]' Different '.'hil'[‘i'lnﬁﬂ of Tards evoke different emotions in a birder,
(b)  Sometimes birds make their nests hidden from public view

(1) (b) is right and {a) is wrong, (2)  Both {a) and (b] are right

{3)  Both {a) and (b are WIong, (41 (&) is right and (b) & wrong
135. Whois a birder ?

(1) one who watches the birds (2)  one who rears the birds

(3)  one who hunts the birds 4y one who catches the birds

136. Ome of the best way to learn a second language is ;
(1) by constant contact with native speakers in their dwn society
(2) by repeating and practcing the dialogues as done in the audio-lingual method.
(3) by joining a speaking course for the target language.
(4]  being ina classroom where you can focus on the grammar and receive help from a feacher

137. A big challénge in learmung to read is finding motivation and good children's literature. To overcime
this challenge
(1} Encourage parents to establish a small library at home.
(2] FProvide easily accessible Children's literature to motivate and generate interest in reading.
(3)  School authorities must take leamers to book fairs 1o penerate motivation and interest in
reading books.
(4} Teachers should motivate them to read a book everyday as homework.
138. A teacher asked the students of class V to read the story quickly and then put the four pictures in
order. The purpose of this activity is to
(1)  give them practice to reading for the gist
(2) pive them practice in reading for spechc informabon.
(3) revise the new and difficult vocabulary of the story.
(4y arrange the picture cards

139, To assess reading skills at primary level a language teacher should most importantly focus on -
(1} use of punctuation mark, (2) reading at a proper speed.
(3] reading with understanding, (4) identifying the letters of alphabet.

140, A good speaking activity is the one during which :
(1)  learners listens more
(2 learners talk more
(3) participation by cutspoken students is the maximum

(4) teachers explains more

141, Acsessment tools and processes at the foundation stage should be designed in a way that :
(1} they become a natural extension of the child's learning experience.
(2| learner’s progress is described and analysed with that of the overall class performance.
i3] a teacher may use commen single method to assess the achievement of all the learners.
(4] explicit tests and _e_h_:&nﬂnatimw'bw:}mg appropriate for learners,
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142. Along with print books and audio books the books that engage the tactile abilitiog of vourng children
shiould be a part of the classroom hecayse e
(1) it gives autonomy to teachers to use different books for assessment.
{E] it makes books more accessible to diverse learners.
(3} these books will not overly burden a teacher
(4) it ’ﬂrmgs variety to the class and children love variety,

143, “Language learning 15 an mtensive process il begins i brrth amd condimies Heronghtout 11 J
Do vou agree or disagree with the above statement ?
(1) T disagree with this statement
(21 1 partially agree with the statemmnt.
(3) 1 partially disagree with the statement,

{4) I agree with this statement. b
ITE WL "E 15 I.-“ ne Ly 51
144. Tearners aro memaonsing grammar rales and vocabulary and large amount o clags 7

. g langud
mother tongue. Whach method is being used by the teacher into his languag
: p teaching

{1} Natural approach (2} CommunicabiVv
(33 Grammar Translation (4] Direct method
5. ildren's copmtive development and language
il e : it = r the language.

(1) 15 that an individual is bom with a tool to maste

(2) development bear no relationship.
is clasely related to the culture and the
principle of linking stimulus-

ty children lisres

ity an whic o e
COmunurith a process of imitatiorn.

(3 : £
(4) i related to the response A
146 Whole language approach is -
(1) Skill based
{2} Blends sounds . _
(3} Infersa sound-symbol relationship
(41 Meaning hased I
187. If children hear two languages spoken around them, this exposure will ;
{1}  put the children at an advantage.
(2)  not make any difference to the children,
(3)  confuse the children, hindering understanding.
(4} put the children at a disadvantage-
148. This reading has certain learning aims and tasks, learners are supposed to read the text in detail

with concentration and due care, [t is called :

(1] Intensive reading {2] Guided reading

{31 TPleasure reading (4) Extensive reading

At the beginning of the lesson; a teacher divided the class mto groups and asked them to talk abon

149.
an interesting newspaper article that they had just read.  This type of speaking activity is for
enhancing
' (1) Controlled oral practice, (2} Guided oral practice.
(3 Active listening. {4) Oral fluency practice.

150. The students learn patterns of language by repeating model sentences that the teacher provides
They memorise set phrases and receive positive reinforcement from their teacher when they perforr
the drills correctly. The teacher is using the ;

(1) Communicative approach (2) Total physical response
(3} Structural approach (4)  Audic-lingual method
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